
Time: 10 Minutes Paper Math 5 (T-2) Total Marks: 10

1st Month, 2nd Week, 2nd  Day Unit # 1, Addition and Subtraction 
Q.No.1. Choose the correct option. (0.5 x 6 = 3) 
i) The difference of 409 856 and 297 131 is equal to:

 297 131  409 856

(a) 212 375 (b) 102 715 (c) 107 305 (d) 112 725
ii) What is the difference of 741 662 and 555 621?

 555 621  741 662

(a) 186 041 (b) 286 041 (c) 186 241 (d) 386 041
iii) Subtract 749 023 from 931 204 we get:

 931 204 749 023

(a) 182 181 (b) 183 204 (c) 283 191 (d) 182 191

iv) 744 762  565 656 = ?
(a) 179 105 (b) 178 106 (c) 179 106 (d) 178 206

v) The difference of 653 359 and 439 065 is:

 439 065  653 359

(a) 215 293 (b) 214 294 (c) 209 324 (d) 213 914

vi) Subtract 563 095 from 743 218 we get:

 743 218 563 095

(a) 181 249 (b) 180 134 (c) 180 123 (d) 182 123

Q.No.2. Solve the following. (2 x 2 = 4) 
i) 209 856  205 660

__________________________________________________________________

ii) 686 898  333 333

__________________________________________________________________

Q.No.3. Subtract the following. (1.5 x 2 = 3) 
i) 88 991  206 070

__________________________________________________________________

ii) 395 108  165 439

__________________________________________________________________

__________________________________________________________________
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